103 %?E}iig'%ﬁﬂljs; B EEREE P REFN S BF
gﬂ? b m‘b% L%Zb pi‘ pé‘%ﬁ%ﬁ‘r‘; ﬁ,, o

[(B2Fmt-]1%-
¥ I E#abemTa®+b’=c’F o ffabci- TRz gk, (» P abc#bac
;bﬁi:9§—ﬂ‘ __13-_ ﬁ-_’—]/m—_é_w,ﬂ

£l

[

LA N L2 Adk) e G 50 R X
o L % 2014 2

[#2) 4 r=2014 -
LS 2r=a+b-ce<c=a+b-2r > F a>2r, b>2r
d a’+b’=c?> @

a®+b? =(a+b—2r)° =a? +b? —4br — 4ar + 2ab + 4r*
& dar+4br-2ab=4r> < ab-—2ar—2br+4r*=2r?
< (a-2r)(b-2r)=2r* -
o r=20141F :
(a—4028)(b—4028) = 2x 2014 = 2° x (1007)’
=2°x(19x53)" = 2° x19? x53* -
3473k a>b o Bl (a—4028) ~ (b—4028) & = I ##k > =
(a—4028)(b—4028) = 2° x19% x53* »
@ 2,19,53 FR A 0 vt PF A b 5 & iR dcT
(3+1)(2+1)(2+1)

2
Pifsddh o @A 2§ 18 8B A AfedfA e 42 475 Hp o

=18(%) -



[y -]1%-4%
WR AT G FEAT R L o ERATG S IR SR B L
HEdRExy  fF)+f(y)=x"+y ¥z -

e

[13) % 5 s Sl f() =X 2 (X)) =—X32i% EA d o AP % LA fehd i 7 4

EA B

Bk F(X) 5 - B IE B nsdicr 1 x=0 1 » 2 AT @

f(f(y)=y. Vv yeR -

F o e X, yeR o

X +y=fOE0)+ () = F(F)F(FON+F(Y))=(F())*+y -
dRT s (F())P=x2, ¥ xeR « Tt > f() =18 fQ)=-1-
1) £ f)=1" 7

14+ 2x+ X2 = (f L+ X)) =(fAf Q)+ f(f (X)) =(1*+ f(x))?
=1+2F(X)+(f(X)*=1+2F(X)+x* ©

Fpto f(X)=x, VxeR -
2 =f=-1- 8
1-2x+ x> =(f(-1+ X))’ =(fAf Q)+ f(f(X)* =(1*+ f(x))*
=1+2F(X)+(F (X))’ =1+2F(x) +Xx* -

Fpt, f(X)=—Xx, VXxeR -



[y -]%=48
4 AABC ¥ » ¢ e D 272LE % BC } » * % &_/BAD = /DAE = /EAC -

ko ﬁ<%%o

[#p] % AD=a, AE=b,DE=c, %% ZDAE=/EAC, *7 1

A5 _DE
AC EC’
7t ¥ % AC =ak, EC =ck
d &5z g 38
2 w22
cos/DAE =2 TP -¢
2ab
2, 21,2 ~2),2
cos LZEAC = 2+ K —CK
2abk
F] g
a’+b’®—c®  b’+a’k®—ck’?
2ab 2abk
?iﬁ‘n;f :_'V_I =
kz(az—cz)—(a2+b2—cz)k+b2:O
7r 9

1R %k=1 P AD=AC=a, » P AE LDC, a?=b’+c?, &



___1,
a?-c* b?
. b?
Ak=—0F—Fdz o
a‘—c
d S =
_ b2
EC=ck=———"¢C
a‘—c
fr2v 7
2
— a
BD =
—C

"1 %/ EC +BD > 2DE (ﬁb;ﬁﬁ<%%éﬁi§)

o 2 2
EC+BD-—2 .c+_2

>
a
b? a?
{58
>2c  (FEHAEA)
- 2DE.



